RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving FY 2025 Tohono O'odham Nation Health Care Budget Amendments Amending Facilities Maintenance-Third Party; Nutrition & Dietetic-Third Party; Diabetes, Emergency Room, Inpatient Nursing, and Outpatient Departments; and San Xavier Outpatient Budgets)

RESOLUTION NO. 25-233

1	WHEREAS,	the Tohono O'odham Legislative Co	uncil is authorized "	to manage any funds			
2		within the exclusive control of the Tol	iono O'odham Nation	and to appropriate			
3		these funds for the henefit of the na	tion and its member	s" provided that "[a]ll			
4		expenditures of these funds shall b	e pursuant to appro	priations or hudgets"			
5		authorized by resolution or ordinance	e; and "to adopt, appr	ove and amend annual			
6		budgets and to authorize the expen	diture of funds in a	ccordance with these			
7		budgets" (Constitution of the Tohono	O'odham Nation, Art	ticle VI, Section 1(d)(2)			
8		and (3)); and					
9	WHEREAS,	Tohono O'odham Nation Health Care	's ("TONHC") FY 2025 I	Budgets in the amount			
10		of \$150,500,365.98 were approved by	Resolution No. 24-312	; and			
11	WHEREAS,	TONHC's FY 2025 Budgets were later in	acreased by \$3,310,64	4.06 via Resolution No.			
12		25-045 when a budget for the Casa	Grande Clinic was a	pproved, though that			
13		resolution does not explicitly note the	he overall TONHC Bu	dgets were increased;			
14		and					
15	WHEREAS,	TONHC's FY 2025 Budgets were again	increased by \$56,128	3.17 via Resolution No.			
16		25-053 in order to adjust operationa	l and/or personnel li	ne items, though that			
17		resolution did not recognize the budg	get increase made via	Resolution No. 25-045			
18		due to its concurrent but separate	consideration; both	n which cumulatively			
19		received approval to increase TONHO	's overall budget to \$	153,867,138.21; and			
20	WHEREAS,	TONHC has prepared and submitted	for review and appro	oval additional budget			
21		amendments to the FY 2025 Budget	ts incorporated by re	eference below which			
22		request amendments in the amounts set forth:					
23		Ar	proved Budget	Amended Budget			
24		2556 Facilities Maintenance					
25		Third Party	\$6,484,087.73	\$6,484,087.73			
26		6524 Nutrition & Dietetic					
27		Third Party	\$1,746,314.38	\$1,746,314.38			
28		6512 Diabetes Department	\$ 529,708.80	\$ 529,708.80			
29		6516 Emergency Room Department	\$4,589,779.54	\$4,589,779.54			
30		6540 Inpatient Nursing Department	\$2,581,263.33	\$2,581,263.33			
31		6550 Outpatient Department	\$3,153,431.21	\$3,153,431.21			

RESOLUTION NO. 25-233

(Approving FY 2025 Tohono O'odham Nation Health Care Budget Amendments Amending Facilities Maintenance-Third Party; Nutrition & Dietetic-Third Party; Diabetes, Emergency Room, Inpatient Nursing, and Outpatient Departments; and San Xavier Outpatient Budgets)
Page 2 of 3

	1.00			
1		6824 San Xavier Outpatient	\$3,647,130.60	
2		\$3,647,130.60		
3		;and		
4	WHEREAS,	the Health and Human Services and	Budget and Finance	Committees have
5		reviewed these FY 2025 TONHC Budg	get Amendments and	recommend their
6		approval.		
7	NOW, THER	EFORE, BE IT RESOLVED that the Tohon	o O'odham Legislativ	e Council approves
8		these additional FY 2025 TONHC Budg	et Amendments as de	tailed below, which
9		will not change the total overall budget	of \$153,867,138.21.	
10			Approved Budget	Amended Budget
11		2556 Facilities Maintenance		
12		Third Party	\$6,484,087.73	\$6,484,087.73
13		6524 Nutrition & Dietetic		
14		Third Party	\$1,746,314.38	\$1,746,314.38
15		6512 Diabetes Department	\$ 529,708.80	\$ 529,708.80
16		6516 Emergency Room Department	\$4,589,779.54	\$4,589,779.54
17		6540 Inpatient Nursing Department	\$2,581,263.33	\$2,581,263.33
18		6550 Outpatient Department	\$3,153,431.21	\$3,153,431.21
19		6824 San Xavier Outpatient	\$3,647,130.60	\$3,647,130.60
20	BE IT FINALI	LY RESOLVED by the Tohono O'odham Leg	islative Council that th	ie Tohono O'odham

E IT FINALLY RESOLVED by the Tohono O'odham Legislative Council that the Tohono O'odham

Nation Chairperson or any designated official is authorized to administer and
expend the FY 2025 TONHC Budgets as amended, provided that any additional
amendments or modifications shall be submitted for prior approval by the
Tohono O'odham Legislative Council.

The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 05TH day of AUGUST, 2025 at a meeting at which a quorum was present with a vote of 3,054.8 FOR; -0-AGAINST; 266.3 [01] NOT VOTING; and [03] ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1(d)(2) and (3) the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat.984).

RESOLUTION NO. 25-233

49 50 (Approving FY 2025 Tohono O'odham Nation Health Care Budget Amendments Amending Facilities Maintenance-Third Party; Nutrition & Dietetic-Third Party; Diabetes, Emergency Room, Inpatient Nursing, and Outpatient Departments; and San Xavier Outpatient Budgets) Page 3 of 3

	TOHONO O'ODHAM LEGISLATIVE COUNCIL
	Wavalene M. Saunders, Legislative Chairwoman
	got ayof august, 2025
ATTEST:	
Evonne Wilson, Legislative	
7 day of Muy	12025
pursuant to the provision	day of
	TOHONO O'ODHAM LEGISLATIVE COUNCIL
	Wavalene M. Saunders, Legislative Chairwoman
	Wavalene M. Saunders, Legislative Chairwoman
[APPROVED	on the 8 day of August, 2025 at 9 o'clock, A.m.
[] DISAPPROVED	at 9 o'clock, A.m.
	1/1- m.A
	VERLON M. JOSE, CHAIR AN TOHONO O'ODHAM NATION
Returned to the Legislative	Secretary on the day of
Cagnot	2025, at 10.14 o'clock, Q.m.
Mullell	
Evonne Wilson, Legislative	Secretary

ACTION: APPROVING FY 2025 TOHONO O'ODHAM NATION HEALTH CARE BUDGET AMENDMENTS AMENDING FACILITIES MAINTENANCE-THIRD PARTY; NUTRITION & DIETETIC-THIRD PARTY; DIABETES, EMERGENCY ROOM, INPATIENT NURSING, AND OUTPATIENT DEPARTMENTS; AND SAN XAVIER OUTPATIENT BUDGETS

MOVED: COUNCILWOMAN JANICE FELIX

SECOND: COUNCIL WOMAN VIVIAN JUAN-SAUNDERS

DATE: AUGUST 05, 2025

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSEN
SIF OIDAK	1. WAVALENE M. SAUNDERS	125.6	x			
251.2	(Mary Lopez) 2. FRANCIS HOMEWYTEWA ()	125.6	X			х
SELLS	1. JANET B. ELEANDO	282.85	X			
565.7	() 2. EVELYN JUAN MANUEL (Juan Buendia)	282.85	X			
SCHUK TOAK	1. THEORIA CAMPILLO	97.65	X			
195.3	(Rebecca Ann Valentine) 2. DELISA M. RAMON (Quintin C. Lopez)	97.65	Х			х
SAN XAVIER	1. DANIEL L.A. PRESTON III	124.9	X			
249.8	2. JANICE FELIX	124.9	х			
SAN LUCY	1. GLORIA M. RAMIREZ	133.15			x	
266.3	(Lorraine M. Eiler) 2. ROGER MANUEL (Absent) (Christina Andrews) (Present)	133.15			X	Х
PISINEMO	1. PAMELA J. BENAVIDEZ	120.15	X			
240.3	(Nora J. Ruelas) 2. NAOMI MONTE (Edward D. Manuel)	120.15	X			
HICKIWAN	1. LOUIS R. LOPEZ	111.45	х		-	
222.9	(Loretta A. Ortega) 2. DELMA M. GARCIA ()	111.45	х			
GU VO	1. LESLIE LUNA	139.8	x			-
279.6	2. BENNETT CHEWING	139.8	Х			
GU ACHI	1. JEROME F. JOAQUIN	144.6	X			
289.2	(Gloria Johnson) 2. LUCIUS E. LOPEZ (Victoria A. Hobbs)	144.6	х			
CHUKUT KUK	1. MARLAKAY HENRY	180.95	х			
361.9	() 2. VIVIAN JUAN-SAUNDERS (Cornelius Antone)	180.95	х			
BABOQUIVARI	1. JESSE NAVARRO	199.45	х			
398.9	(Alberta J. Ray) 2. NED NORRIS, JR (Leander Mase)	199.45	х			
	TOTAL	3,321.1	3,054.8	-0-	266.3 [01]	[03]